

UNDERGRADUATE PROGRAM 2021-22 Academic Year Winter 2022 Effective January 24, 2022

	FULL-TIME STUDENTS				Р	ART-TIME S	TUDENTS	TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Undergraduate Degree Students - Quarter											
First-year Students											
Arts & Sciences	710	11,683.75	16.46	710	3	27.00	9.00	2.25	713	11,710.75	712.25
Business	504	8,177.50	16.23	504	1	11.00	11.00	0.92	505	8,188.50	504.92
Engineering	312	5,699.00	18.27	312	4	37.00	9.25	3.08	316	5,736.00	315.08
Total - First-year Students	1,526	25,560.25	16.75	1,526	8	75.00	9.38	6.25	1,534	25,635.25	1,532.25
Transfer Students											
Arts & Sciences	161	2,651.75	16.47	161	5	37.00	7.40	3.08	166	2,688.75	164.08
Business	71	1,201.00	16.92	71	1	6.00	6.00	0.50	72	1,207.00	71.50
Engineering	25	442.00	17.68	25					25	442.00	25.00
Total - Transfer Students	257	4,294.75	16.71	257	6	43.00	7.17	3.58	263	4,337.75	260.58
Continuing Students - Main Campus											
Arts & Sciences	2,051	35,236.25	17.18	2,051	82	695.25	8.48	57.94	2,133	35,931.50	2,108.94
Business	1,131	19,957.00	17.65	1,131	38	334.00	8.79	27.83	1,169	20,291.00	1,158.83
Engineering	624	10.759.00	17.03	624	38	316.50	8.33	26.38	662	11.075.50	650.38
Total - Continuing Students - Main Campus	3,806	65,952.25	17.33	3,806	158	1,345.75	8.52	112.15	3,964	67,298.00	3,918.15
	0,000	00,002.20		0,000		.,	0.02		0,00.	01,200.00	0,010110
Continuing Students - External Study											
Arts & Sciences	17	323.00	19.00	17					17	323.00	17.00
Business	7	133.00	19.00	7					7	133.00	7.00
Engineering					_						
Total - Continuing Students - External	24	456.00	19.00	24	0				24	456.00	24.00
Total SCU Degree Students											
Arts & Sciences	2,939	49,894.75	16.98	2,939	90	759.25	8.44	63.27	3,029	50,654.00	3,002.27
Business	1,713	29,468.50	17.20	1,713	40	351.00	8.78	29.25	1,753	29,819.50	1,742.25
Engineering	961	16,900.00	17.59	961	42	353.50	8.42	29.46	1,003	17,253.50	990.46
Total - SCU Degree Students	5,613	96,263.25	17.15	5,613	172	1,463.75	8.51	121.98	5,785	97,727.00	5,734.98
SCU Undergraduate Non Degree Students											
Main Campus											
External Study											
Exchange Programs	5	70.00	14.00	5					5	70.00	5.00
Total - Non Degree Students	5	70.00	14.00	5	0			0.00	5	70.00	5.00
Total Hadayawa di sata Chindaya	E 040	00 222 05	47.45	E 040	470	4 400 75	0.54	404.00	F 700	07 707 60	F 720 00
Total Undergraduate Students	5,618	96,333.25	17.15	5,618	172	1,463.75	8.51	121.98	5,790	97,797.00	5,739.98

- 1. SCU degree students include students admitted to the undergraduate degree program.
- 2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.
- 3. Transfers include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.
- 4. Number of units does not include units from audited classes.
- 5. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program. For students enrolled in 12 units or more, FTE = 1.0. Otherwise, FTE = number of units / 12.



UNDERGRADUATE PROGRAM - EXTERNAL STUDY

2021-22 Academic Year Winter 2022 Effective January 24, 2022

Head No. of Ave. No. Head No	o. of Ave. No.		TOTAL STUDENTS		
110dd 110. 01 7170. 110.	0. 01 / WC. 140.	Head	No. of		
Count Units of Units FTE Count Units	Inits of Units FTE	Count	Units	FTE	
SCU Undergraduate Degree Students - External Study					
College of Arts & Sciences					
Quarter programs 1 19.00 19.00 1		1	19.00	1.00	
Semester programs 16 304.00 19.00 16		16	304.00	16.00	
Panetta Institute					
Total - Arts & Sciences 17 323.00 19.00 17 0		17	323.00	17.00	
Leavey School of Business					
Quarter programs 3 57.00 19.00 3		3	57.00	3.00	
Semester programs 4 76.00 19.00 4		4	76.00	4.00	
Total - Leavey School of Business 7 133.00 19.00 7 0		7	133.00	7.00	
School of Engineering					
Quarter programs					
Semester programs					
Total - School of Engineering 0 0.00 0 0		0	0.00	0.00	
Total SCU Undergraduate Degree Students - External Study by Program					
Quarter programs 4 76.00 19.00 4		4	76.00	4.00	
Semester programs 20 380.00 19.00 20		20	380.00	20.00	
Panetta Institute				_	
Total SCU Undergraduate Degree Students - External Study 24 456.00 19.00 24 0		24	456.00	24.00	

- 1. For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.
- 2. For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.
- 3. Number of units does not include units from audited classes.
- 4. Units shown in Totals for the College and Schools are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



GRADUATE PROGRAMS - QUARTER 2021-22 Academic Year Winter 2022 Effective January 24, 2022

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Graduate Students - Quarter												
College of Arts & Sciences												
Pastoral Ministries (M.A.)	5	44.00	8.80	5.50	10	40.00	4.00	5.00	15	84.00	10.50	
Pastoral Ministries Distance Learning (M.A.)	7	56.00	8.00	7.00	22	88.00	4.00	11.00	29	144.00	18.00	
Non Degree - Pastoral Ministries					14	56.00	4.00	7.00	14	56.00	7.00	
Total - College of Arts & Sciences	12	100.00	8.33	12.50	46	184.00	4.00	23.00	58	284.00	35.50	
Leavey School of Business												
J.D./MBA Combined Degree	1	10.00	10.00	1.11	9	62.00	6.89	6.89	10	72.00	8.00	
J.D./MSIS Combined Degree												
Executive MBA (EMBA)	47	536.00	11.40	47.00	8	64.00	8.00	7.11	55	600.00	54.11	
Master of Business Administration (M.B.A.)	49	513.00	10.47	57.00	170	1,138.00	6.69	126.44	219	1,651.00	183.44	
Master of Business Administration (M.B.A.) (on-line)	80	894.00	11.18	99.33	194	1,317.00	6.79	146.33	274	2,211.00	245.67	
Master of Business Administration (M.B.A.) STEM	8	86.00		9.56	2	16.00		1.78	10	102.00	11.33	
Master of Science - Business Analytics (M.S.)	34	402.00	11.82	44.67	21	95.00	4.52	10.56	55	497.00	55.22	
Master of Science - Business Analytics (M.S.) (online)	3	30.00	10.00	3.33	3	24.00	8.00	2.67	6	54.00	6.00	
Master of Science - Finance & Analytics (M.S.)	24	288.00	12.00	32.00	13	71.00	5.46	7.89	37	359.00	39.89	
Master of Science - Finance & Analytics (M.S.) (online)	5	56.00	11.20	6.22	28	186.00	6.64	20.67	33	242.00	26.89	
Master of Science - Finance (M.S.)												
Master of Science - Marketing (M.S.) (on-line)	14	146.00	10.43	16.22	36	208.00	5.78	23.11	50	354.00	39.33	
Master of Science - Management Information Systems (M.S.I.S.)	40	403.00	10.08	44.78	32	228.00	7.13	25.33	72	631.00	70.11	
Non Degree - Business												
Post Baccalaureate CAAP	23	276.00	12.00	23.00	2	12.00	6.00	1.00	25	288.00	24.00	
Total - Leavey School of Business	328	3,640.00	11.10	384.22	518	3,421.00	6.60	379.78	846	7,061.00	764.00	
School of Engineering												
Doctor of Philosophy (Ph.D.)	25	202.00	8.08	25.25	38	85.00	2.24	10.63	63	287.00	35.88	
Engineer's Degree	1	8.00	8.00	1.00					1	8.00	1.00	
Master of Science (M.S.)	370	3,205.00	8.66	400.63	134	541.00	4.04	67.63	504	3,746.00	468.25	
Master of Science - Robotics and Automation (M.S.)												
Engineering Certificate					13	45.00	3.46	5.63	13	45.00	5.63	
Non Degree - Engineering					4	12.00	3.00	1.50	4	12.00	1.50	
Total - School of Engineering	396	3,415.00	8.62	426.88	189	683.00	3.61	85.38	585	4,098.00	512.25	



GRADUATE PROGRAMS - QUARTER 2021-22 Academic Year Winter 2022 Effective January 24, 2022

	Head	FULL-TIME S'	Ave. No.		Head	ART-TIME S No. of	Ave. No.		Head	TAL STUDEN No. of	
SCU Graduate Students - Quarter	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
School of Education & Counseling Psychology											
Doctorate in Social Justice Leadership (Ed.D)					19	114.00	6.00	12.67	19	114.00	12.67
Master of Arts (M.A.) - Applied Psychology	1	9.00	9.00	1.00	2	6.00	3.00	0.67	3	15.00	1.67
Master of Arts (M.A.) - Counseling	11	99.00	9.00	11.00	15	75.00	5.00	8.33	26	174.00	19.33
Master of Arts (M.A.) - Counseling Psychology	247	2.301.50	9.32	255.72	162	874.50	5.40	97.17	409	3.176.00	352.89
Master of Arts (M.A.) - Educational Administration	12	108.00	9.00	12.00	33	160.00	4.85	17.78	45	268.00	29.78
Master of Arts Teaching (M.A.T.) Multiple Subject	26	312.00	12.00	34.67	28	163.00	5.82	18.11	54	475.00	52.78
Master of Arts Teaching (M.A.T.) Single Subject	29	312.00	10.76	34.67	24	106.00	4.42	11.78	53	418.00	46.44
MAT Clear Teach Catholic School Teach					1	8.00	8.00	0.89	1	8.00	0.89
Abb Pre Tch Prg Catholic School Multi											
Bilingual Cross-Cult Language Certificate											
Catholic School Leadership Certificate											
Alternative and Correctional Certificate											
Clear Teaching Certificate											
Credential for 6+ yrs Catholic School Teachers Certificate											
Preliminary Admin Service Certificate					2	6.00	3.00	0.67	2	6.00	0.67
Preliminary Multiple Subj Teach Pro Catholic School Teach Certificate					7	38.00	5.43	4.22	7	38.00	4.22
Preliminary Single Subj Teach Pro Catholic School Teach Certificate					4	21.00	5.25	2.33	4	21.00	2.33
Non Degree - Counseling Psychology											
Non Degree - Education											
Total - School of Education & Counseling Psychology	326	3,141.50	9.64	349.06	297	1,571.50	5.29	174.61	623	4,713.00	523.67
Total SCU Graduate Students - Quarter	1,062	10,296.50	9.70	1,172.65	1,050	5,859.50	5.58	662.76	2,112	16,156.00	1,835.42

- 1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units.
- 2. In the Business post baccalaureate CAAP program, student FTE is based on 12 units.
- 3. In Business graduate programs, student FTE is based on 9 units.
- 4. In Engineering graduate programs, student FTE is based on 8 units.
- 5. In Education and Counseling Psychology programs, student FTE is based on 9 units.
- 6. In post baccalaureate and graduate programs, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program. EMBA students are an exception. This is a full-time cohort program in which FTE equals number of students.



GRADUATE PROGRAMS - SEMESTER

2021-22 Academic Year Winter 2022 Effective January 24, 2022

	FU	LL-TIME STUDENTS	P.A	ART-TIME ST	UDENTS		TOTAL STUDENTS			
	Head	No. of Ave. No.		Head		Ave. No.	FTE	Head	No. of	ETE
SCU Graduate Students - Semester and Special Programs	Count	Units of Units	FTE	Count	Units	of Units	FIE	Count	Units	FTE
School of Law										
Juris Doctor (J.D.) - Day										
Juris Doctor (J.D.) - Evening										
Juris Doctor (J.D.) - Day Study Abroad										
Juris Doctor (J.D.) - Evening Study Abroad										
JD/MBA Combined Degree										
JD/MSIS Combined Degree										
Master of Laws (L.L.M.)										
Master of Laws (L.L.M.) Abroad Master of Legal Studies (MLS) - Corporate Compliance (on-line)										
Non Degree Exchange										
Non Degree Non Degree										
Total - School of Law	0	0.00	0.00	0	0.00		0.00	0	0.00	0.00
Jesuit School of Theology										
Master of Divinity (M.Div.)				10	28.00	2.80	3.11	10	28.00	3.11
Master of Theological Studies (M.T.S.)				2	7.00	3.50	0.78	2	7.00	0.78
Master of Theological Studies (M.T.S.) (on-line)				1	3.00	3.00	0.33	1	3.00	0.33
Master of Theology (Th.M.) Master of Theology (Th.M.) - Candidates										
Bachelor of Sacred Theology (S.T.B.)										
Licentiate of Sacred Theology (S.T.L.)				5	7.00	1.40	0.78	5	7.00	0.78
Licentiate of Sacred Theology (S.T.L.) - Candidates										
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)										
Doctor of Sacred Theology (S.T.D.)										
Doctor of Sacred Theology (S.T.D.) - Candidates										
Master of Arts/Master of Divinity (M.A./M.Div.)										
New Directions										
Non Degree Total - Jesuit School of Theology	0	0.00	0.00	18	45.00	2.50	5.00	18	45.00	5.00
Total - Jesuit School of Theology	U	0.00	0.00	10	45.00	2.50	5.00	10	45.00	5.00
Total SCU Graduate Students - Semester and Special Programs	0	0.00	0.00	18	45.00	2.50	5.00	18	45.00	5.00

- 1. In the School of Law, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units. The JD/MBA, JD/MSIS, and MLS programs are based on 9 units.
- 2. In the Jesuit School of Theology, student FTE is based on 9 units.
- 3. In Law and JST, FTE equals the number of units a student is enrolled in / number of units for their program.
- 4. Number of units enrolled in does not include units from audited classes.
- 5. Students in non-degree programs or in JST's New Directions program are always considered part-time.
- 6. In the School of Law, the on-line Master of Legal Studies program operates on a quarter calendar. JST offers a January Intersession which operates on a quarter schedule Winter term.



OVERALL ENROLLMENT 2021-22 Academic Year Winter 2022 Effective January 24, 2022

	FULL-TIME STUDENTS					PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of			
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE		
SCU Enrollment by Program													
Undergraduate Programs													
College of Arts & Sciences	2,939	49,895	16.98	2,939	90	759	8.44	63	3,029	50,654	3,002		
Leavey School of Business	1,713	29,469	17.20	1,713	40	351	8.78	29	1,753	29,820	1,742		
School of Engineering	961	16,900	17.59	961	42	354	8.42	29	1,003	17,254	990		
Non Degree Students	5	70	14.00	5					5	70	5		
Total Undergraduate	5,618	96,333	17.15	5,618	172	1,464	8.51	122	5,790	97,797	5,740		
Graduate Programs - Quarter													
College of Arts & Sciences	12	100	8.33	13	46	184	4.00	23	58	284	36		
Leavey School of Business	328	3,640	11.10	384	518	3,421	6.60	380	846	7,061	764		
School of Engineering	396	3,415	8.62	427	189	683	3.61	85	585	4,098	512		
School of Education & Counseling Psychology	326	3,142	9.64	349	297	1,572	5.29	175	623	4,713	524		
Total Graduate Programs - Quarter	1,062	10,297	9.70	1,173	1,050	5,860	5.58	663	2,112	16,156	1,835		
Graduate Programs - Semester and Special Programs													
School of Law													
Jesuit School of Theology					18	45	2.50	5	18	45	5		
Total Graduate Programs - Semester	0	0	#DIV/0!	0	18	45	2.50	5	18	45	5		
Total Enrollment	6,680	106,630	15.96	6,791	1,240	7,368	5.94	790	7,920	113,998	7,580		

^{1.} Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

^{2.} Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



OVERALL ENROLLMENT 2021-22 Academic Year Winter 2022 Effective January 24, 2022

	FULL-TIME STUDENT			Ī	PART-TIME STUDENTS					TOTAL STUDENTS			
	Head		Ave. No.		Head	No. of	Ave. No.		Head	No. of			
SCU Enrollment by College/School	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE		
College of Arts & Sciences													
Undergraduate - Degree Seeking	2,939	49,895	16.98	2,939	90	759	8.44	63	3,029	50,654	3,002		
Graduate - Degree Seeking	2,939	100	8.33	2,939	90 46	184	4.00	23	5,029	284	3,002		
Total College of Arts & Sciences	2,951	49,995	16.94	2,952	136	943	6.94	86	3,087	50,938	3,038		
Leavey School of Business													
Undergraduate - Degree Seeking	1,713	29,469	17.20	1,713	40	351	8.78	29	1,753	29,820	1,742		
Graduate	328	3,640	11.10	384	518	3,421	6.60	380	846	7,061	764		
Total Leavey School of Business	2,041	33,109	16.22	2,097	558	3,772	6.76	409	2,599	36,881	2,506		
School of Engineering													
Undergraduate - Degree Seeking	961	16,900	17.59	961	42	354	8.42	29	1,003	17,254	990		
Graduate	396	3,415	8.62	427	189	683	3.61	85	585	4,098	512		
Total School of Engineering	1,357	20,315	14.97	1,388	231	1,037	4.49	115	1,588	21,352	1,503		
Non Degree Students - Undergraduate													
Total Undergraduate - Non-degree Seeking	5	70	14.00	5					5	70	5		
School of Education & Counseling Psychology													
Undergraduate - Degree Seeking													
Graduate	326	3,142	9.64	349	297	1,572	5.29	175	623	4,713	524		
Total School of Education & Counseling Psychology	326	3,142	9.64	349	297	1,572	5.29	175	623	4,713	524		
School of Law													
Undergraduate - Degree Seeking													
Graduate													
Total School of Law	0	0	#DIV/0!	0	0	0	#DIV/0!	0	0	0	0		
Jesuit School of Theology													
Undergraduate - Degree Seeking													
Graduate					18	45	2.50	5	18	45	5		
Total Jesuit School of Theology	0	0	#DIV/0!	0	18	45	2.50	5	18	45	5		
Total Enrollment	6,680	106,630	15.96	6,791	1,240	7,368	5.94	790	7,920	113,998	7,580		

^{1.} Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

^{2.} Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.